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<4.2> w, = 1.5564 rad/s, w, = 1.990 rad/s

<4.3> u = {0'5’9} LW = {_01'64}

<4.4> z,(t) = 0.379 cos(1.554 t) + 0.621 cos(1.990 ¢)
zy(t) = 0.971 cos(1.554 t) - 0.971 cos(1.990 t)

<4.5> z,(t) = 0.1654 sin(1.278 t) + 0.430 sin(1.834 t)
zy(t) = 0.904 sin(1.278 ¢) - 0.630 sin(1.834 t)
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<4.7> w; = 0, wy, = 3.54 rad/s <4.8> w; = 0.255 rad/s, w, = 1.239 rad/s

{i«l(t)] . [k1+k2 — k

my 0

<4.6> 0 my

<4.9> z,(t) = %cos V2t ., a,(t) = cosv2t .
Both masses oscillate at only one frequency.
<4.10> z,(t) = —%cosZt , zy(t) = cos2t
Both masses oscillate at only one frequency.
<4.11> wy =0, wy, = 4.472 rad/s
k

k. _ _
0482y /= w, = 1198/ . u —{

<4.12> w, 0-768} o 2{—0.434}

1

<4.13> w, = O rad/s, w, = 16.04 rad/s, u = {}} D ow = { ! }

<4.14> z,(t) = 0.025 - 0.025 cos(16.04 t)
zy(t) = 0.025 + 0.025 cos(16.04 t)
<4.15> w; = 0.618 rad/s, w, = 13.54 rad/s
<4.16> A= 417> A= <4.18> A=F <4.19> A=

1.63 <1.94> w, = 1.571 rad/s, ¢ = 0.1986, w, = 1.603 rad/s

<1.95> 4 (=E) <1.96> ¥
<1.97> E = 564x10° N/m? <1.98> ¢ = 16,200 N-s/m
<1.99> ¢ = 0.215 <1.100> ¢ = 0.25 ¢ i, 3.2% 2=}

<1.101> ¢ = 16.70 N-s/m



